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1. AEMOFREONREZIHAL V. AABC OEEE S, SMEMHOFLE O, SMEMOYEE R T 5.
72 BC=a,CA=b,AB=c,AH="h ¢ 5X. (SHeasr, A%64%, B9, C#15%7)

* NEFOFEORH

abc
48

R= (=1L S = AABC)

(1)  AABH co AADC %R X.

(2 (1) DREHWT, R % b,c,h TRE.

3) (2) DHREHVT, R % a,b,c,S TRE.
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FLI—DEHEIALZV. TRO X 51, UATE ABCD IKHEMEH 2 2T 5.
(S#s59, AfT4r, BHk105, C# 1557 )

D * FLS—0O%HE AB-CD+ AD:BC = AC-BD
YWHZT FHONENAFICEWT [ HIOBOM = MARORE
WL I—LBERF VS TORXFEE S ST 4 AR - T LA FADI L
2 ZD7b, COEMET B LA FRDEIY IEINS.

(1) /BAE=/CAD ¢73% %X951ZBD LIZHE &8KL.
AABE 0o AACD  ZFFEHL,
AB:CD=BE-AC Th2Ir%=EXZ.

(2) B> —HOMUL=AELDH S Z L 2L, L I —DEHZAAE X.
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R&7R b+ FEERF A MEHOFE- FLI-—0OFE 01 FEHEH

1. AEMOFEORNREZIHL 2V, AABC OEfEE S, SMEMOFLE O, MEMOYEE R T 5.
¥/, BC=a,CA=b,AB=c,AH="h £ 8X. (SHeasr, A%h64%, B#KR9, C#15%7)

* SHEAOFEDORT

R= ‘j&c (7L § = AABC)

(1) AABH co AADC % iR k.

AOAC ¥ AOBC BT
/ABH = /ADC (ACOMREMAIEE L)
/AHB = ZACD =90° (B AD OFEMAIE 90°)
2HDANZNZNEFEL VDS,

AABH co AADC
(2 (1) DREHWT, R % b,c,h TRE.

AL &,
AB: AH=AD: AC
= ¢:h=2R:b

be

R=2¢
2h

T h£0

3) (2 DHEREHWT, R % a,b,c,S TRE.

AABC = % THEDE, a40 ED,

_ 25
a

h

ZhE (2) IR AT AU,

b1
B = 5x

_ abc S 40
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FLI—DEHEIALZV. TRO X 51, UATE ABCD IKHEMEH 2 2T 5.
(S#s59, AfT4r, BHk105, C# 1557 )

D * FLS—0O%HE AB-CD+ AD:BC = AC-BD
YWHZT FHONENAFICEWT [ HIOBOM = MARORE
WL I—LBERF VS TORXFEE S ST 4 AR - T LA FADI L
2 ZD7b, COEMET B LA FRDEIY IEINS.

(1) /BAE=/CAD ¢73% %X951ZBD LIZHE &8KL.
AABE 0o AACD  ZFFEHL,
AB:CD=BE-AC Th2Ir%=EXZ.

AABE ¥ AACD iZBWVWT

/ABE = /ACD  (ADOMAEMIZELW.)
/BAE = JZCAD (RE )

FoT 2MoABNENTNELVDS,
AABE co AACD

= AB:BE=AC:CD
& AB-CD=BE-AC Q@

2 b5 —HOMUR=ZAERD 2 2L, FL I —OFEEZHY k.

AAED ¥ AABC BT
ZEDA = /BCA (ABOFIREMAIEE L)
/EAD = /EAC + ZCAD
= J/EAC+ /BAE (IRE)
/BAC

o T 2HDARENETREL VLD,
AAED o AABC

= BC:CA=ED:DA
& BC'DA=CA-ED @

Eo72 2 DDERQO, @DHHL DD &
AB:CD + AD + BC (BE + ED) * AC
= AC-BD
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